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QUESTION 1

What is the default user workload class that is created for each database table?
A. DEFAULT_USER

B. SYSUSERDEFAULTWLM

C. SYSDEFAULTUSERWORKLOAD

D. SYS_DEFAULT _USER_WORKLOAD

Correct Answer: C

QUESTION 2

Which type of storage is utilized in the implementation of an effective and flexible multi- temperature database?
A. System managed storage

B. Automatic storage utilizing storage groups

C. System managed storage utilizing storage groups

D. Database managed storage with file system caching

Correct Answer: B

QUESTION 3

To configure instance-level auditing with db2audit, which authority is required?
A. SYSADM

B. SYSCTRL

C. SECADM

D. SYSMAINT

Correct Answer: A

QUESTION 4
A database administrator needs to create a federated database and configure access to join data from 3 Oracle
instances, 2 SQL Server instances, and 1 DB2 database. Which objects are needed to establish the specified

connections?

A. 3 Oracle servers, 1 Oracle wrapper, 2 SQL Server servers, 1 SQL Server wrapper, and nicknames for all databases.
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B. 3 Oracle servers, 3 Oracle wrappers, 2 SQL Server servers, 2 SQL Server wrappers, and nicknames for all
databases.

C. 3 Oracle servers, 1 Oracle wrapper, 2 SQL Server servers, 1 SQL Server wrapper, 1 DB2 server, 1 DB2 wrapper,
and nicknames for all databases.

D. 3 Oracle servers, 3 Oracle wrappers, 2 SQL Server servers, 2 SQL Server wrappers, 1 DB2 server, 1 DB2 wrapper,
and nicknames for all databases.

Correct Answer: C

QUESTION 5

With HADR, IBM Tivoli System Automation for Multiplatforms (SA MP) automated failover can be used with which
database(s)?

A. The primary database only.

B. The auxiliary standby database only.

C. The principal standby database only.

D. The primary, auxiliary standby, and principal standby database.

Correct Answer: C

QUESTION 6

Which Range-Clustered Tables (RCT) statement is correct?

A. Reverse scans on RCTs are not supported.

B. Clustering indexes are compatible with RCTs.

C. The Design Advisor can recommend the use of RCTs.

D. The IMPORT utility can be used with the REPLACE option to populate RCTSs.

Correct Answer: A

QUESTION 7

A table named MYTAB was created as follows:
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CREATE TABLE rmytab (c1 INT, £2 INT)
PARTIT ON BY RANGE (c1)

(STARTING FROM (1) ENDING AT {100},
STARTING FROM (201) ENDING AT (300));

If the following statements are executed:
INSERT INTO mytab WALUES (1,1),(2,1),(3,
INSERT INTO mytab WALUES (4,1),051).(
INSERT INTO mytab WALUES (7.1),(81).(
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How many rows will be inserted into the MYTAB table?
A4

B. 8

c.11

D. 12

Correct Answer: B

QUESTION 8

A table space creation operation was unsuccessful because DB2 failed to allocate a container in a path. Which
diagnostic tool can be used to help resolve the problem?

A. db2dart
B. db2diag
C. db2caem
D. db2fmcu

Correct Answer: B

QUESTION 9
A DBA wants to create a table named SALES that has the following characteristics:

Effective data clustering and management of space utilization. Rows in the table should be clustered based on when
they are added to the table. Which clause must be used with the CREATE TABLE statement to define this table?

A. ORGANIZE BY DIMENSIONS

B. ORGANIZE BY INSERT TIME
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C. ORGANIZE BY TIME PERIOD
D. ORGANIZE BY KEY SEQUENCE

Correct Answer: B

QUESTION 10

A DBA wants to create a set of tables in a storage group named SG_1, but no table spaces have been assigned to this
group. What kind of table spaces must the DBA assign to the storage group before the desired tables can be created?

A. Automatic storage (AS) table spaces

B. System managed space (SMS) table spaces

C. Database managed space (DMS) table spaces that use FILE containers
D. Database managed space (DMS) table spaces that use RAW containers

Correct Answer: A

QUESTION 11

Which configuration parameter setting(s) are needed to force authentication to happen at the data source in a federated
database environment?

A. FEDERATED set to YES

B. FEDERATED set to YES AUTHENTICATION set to SERVER or SERVER_ENCRYPT
C. FEDERATED set to YES FED_NOAUTH set to YES

D. FEDERATED set to YES FED_NOAUTH set to YES

AUTHENTICATION set to SERVER or SERVER_ENCRYPT

Correct Answer: D

QUESTION 12
If the AUDIT_BUF_SZ configuration parameter is set to zero (0), what will happen?
A. The audit facility writes records to disk at the same time the statements generating the audit records are executing.

B. Statements generating audit records must wait for the records to be written to disk before they can complete
execution.

C2090-614 VCE Dumps | C2090-614 Practice Test | C2090-614 Braindumps 517


https://www.passapply.com/c2090-614.html
https://www.passapply.com/c2090-614.html
https://www.passapply.com/c2090-614.html

VCE & PDF https://www.passapply.com/c2090-614.html
2024 Latest passapply C2090-614 PDF and VCE dumps Download

PassApply.com

C. The writing of audit records to disk will be delayed until a minimum number of records (based on record size and
memory available in the database heap) have been generated.

D. There is no limit to how many audit records can be stored in an internal memory buffer for one single statement
generating audit records.

Correct Answer: B

QUESTION 13

Which diagnostic tool can be used to show high-watermark consumptions of Fast Communication Manager (FCM)
buffers and channels?

A. db2pd
B. inspect
C. db2dart
D. db2mitrk

Correct Answer: A

QUESTION 14

Which Workload Manager (WLM) objects can the COLLECT ACTIVITY DATA clause be used with?
A. Data class, work class, and a limit

B. Data class, action class, and a threshold

C. Service subclass, action class, and a limit

D. Service subclass, work class, and a threshold

Correct Answer: D

QUESTION 15

A DB2 9 database named MYDB that does not use automatic storage was migrated to DB2 10.1. When will a default
storage group be defined for this database?

A. The first time the database is accessed after the migration.
B. The first time the CREATE STOGROUP statement is executed.

C. When the ALTER DATABASE mydb CONVERT statement is used to convert the database to an automatic storage
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database.

D. When the ALTER TABLESPACE statement is used to convert the table space that holds the system catalog for the
database to automatic storage.

Correct Answer: B
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